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gL [Fmvy| KFEH B&E BFA &£ |POS B
1 A BEK 6 [EE Z=[th 4 DB 8
2 B EBK 25 |/hE £t 2 DB 7
3 A BEM 23 |#@A EBECD 4 DB 4
3 A BEK 23 [/ BA 2 DB 4
5 B AKX 2 |Hi B 4 DB 3
5 B BEX 20 (BE MHRA 4 DB/K 3
5 B RBK 2 |BEE BA 3 DB 3
5 B BAX 5 |Efh B 3 DB 3
5 A BEM 53 [BE#E kit 2 LB 3
5 B BAX 27 |EE HEEA 2 DB 3
5 A HEX 48 |FHRE FE 1 DB 3
12 B EBK 5 |[#®R & 4 DL 2
12 A BiEE 22 |{EA HEE 4 DB 2
12 A BiEH 26 |M#E KB 4 DB 2
12 A hRX 21 |HARRE & 4 DB 2
12 A FEM 21 [[A[H EBX 4 DB 2
12 A BEM 95 (EPR KM 4 DL 2
12 B IR 7 |A% Z=AH 4 DB 2
12 B IHK 95 |iIA =EAN 4 DL 2
12 B BARX 17 |RBK =% 4 DB 2
12 A BEREX 8 |B XK= 4 LB 2
12 A E PN 22 |iE# X 4 DB/K 2
12 A BEK 27 [BE & 4 DB/K 2
12 B BEX 12 |HF BH 4 DB 2
12 B EBK 34 (KB (G 3 DB 2
12 A FRX 2 |#K B&E 3 DB 2
12 A hRX 31 |HLE &S 3 LB 2
12 B AKX 44 |ARE & 3 DB 2
12 B BAX 21 ||ER & 3 DB 2
12 A E PN 2 |B% B 3 DL 2
12 B BEFEXR 10 |WE BH 3 LB 2
12 B BEX 17 |WWTF K& 3 LB 2
12 B BEFEXR 22 |&x # 3 DB 2
12 A =k e 1 [IFE &t 2 DB 2
12 B IHK F B 2 DB 2
12 B ITHK 6 | B 2 DB 2
12 B BAX 26 |BAX KH 2 DB 2
12 B BARX 99 (888 & 2 DL 2
12 B BEFEXR 28 |fR MX 2 DB 2
12 B BEX 30 [[BEA MFE 2 DB 2
12 A HEX 20 |kfB fERk 2 DB 2
12 A HEX 23 |E@A #EKXKE 2 LB/K 2
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43 B RBK 1 |dl TK 4 DB 1
43 B EBK 21 |E% BB 4 DB 1
43 B BB 47 |Rl Xth 4 LB 1
43 B EBK 57 |WLA FHH 4 LB 1
43 A B 9 |XKE &=t 4 LB 1
43 A BigH 20 (/A £ 4 DL 1
43 A B 23 |(F1&E BN 4 DB 1
43 A BiEH 24 | K& A 4 DB 1
43 A B 99 |IUEA HKED 4 DL 1
43 B AKX FRE EX 4 LB 1
43 B PPN R REX 4 DL 1
43 B AKX 28 ¥ tHh—E} 4 DB 1
43 A BEM 2 |[#E XA 4 DB 1
43 A FHeEM 56 (Al REK 4 LB 1
43 B MK 22 |MEE MFE 4 DB 1
43 A REK 28 |fH& M 4 DB 1
43 A BEK 99 |EFfl &X 4 DL 1
43 B BEX 1 A R 4 | DB/LB 1
43 B BEFEXR 4 |/t EE 4 LB 1
43 A BEX 21 |#HL YrLoFay 4 DB 1
43 A HEEX 22 (&% K& 4 DB 1
43 A HEEX 31 |E&E ER 4 DB 1
43 B RBK 3 [Jn# Ei 3 LB 1
43 A =k e 58 8K M 3 DL 1
43 A FRX 94 (AEH REE 3 DL 1
43 B AKX 5 |B#% HiE 3 LB 1
43 B AKX 20 |KE 7 3 DB 1
43 A FHeEM 67 |%& RAR 3 DL 1
43 B STHK 31 |8l X3 3 DB 1
43 B IHK 49 [EN HA 3 LB 1
43 B STHK 57 |(¥HE KA 3 LB 1
43 B BAX 51 |ZB% XNt 3 LB 1
43 B BEX 52 |(#HE HRAK 3 DL 1
43 B EBK 33 |=EI8 WA 2 DB 1
43 B BB 45 |@EE BX 2 DB 1
43 A BRfaE 31 |88k BE 2 DB 1
43 B AKX 52 |RE ®& 2 LB 1
43 A FeEM 13 |#ER =R 2 DB 1
43 A BEM 41 [HB —# 2 DL 1
43 B IR 20 |/\K EXE} 2 | LB/DB 1
43 B BAX 93 [faAK FEH 2 DL 1
43 A REK 36 |#EA HEKER 2 DB/P 1
43 A B’EREX 47 |iIlR EEE 2 LB 1
43 A FeEM 31 |EA 2 1 DB 1
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43 B BREX 45 |dtBA # 1 DB 1




